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BES-019 : TEACHING OF SCIENCE 
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Note : (i) All the four questions are compulsory. 
(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

What is children's general perception about 
scientists ? How will you highlight the 
humanitarian and social aspects of scientist's life 
in your class ? Give examples. 

OR 
Discuss different types of questions, a science 
teacher should ask in science classroom. How will 
you develop testable questions in your science 
class ? Explain with suitable examples. 

2. Answer the following question in about 
600 words : 

How does constructivism approach help to 
improve the effectiveness of science teaching ? 
Explain with suitable examples. 

OR 
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What strategies will you adopt to promote 
inclusion of learners with different needs in 
science teaching ? Explain with examples from 
science curriculum at elementary level. 

3. Answer any four of the following questions in 
about 150 words each : 
(a) Develop a crossword puzzles on the topic 

'Adaptations in animal' along with 
assessment table. 

(b) Suggest an activity to demonstrate on the 
topic "Elasticity and Plasticity" to your class. 

(c) Discuss various cropping patterns in India. 
(d) How will you demonstrate chemical effect 

of electric current ? 
(e) How can ICT resources be used to explain 

the concepts of Breathing and 
Respiration ? 

(f) Discuss different types of data in science. 

4. Answer the following question in about 
600 words. 
Identify a theme from science curriculum of class 
VI to VIII and prepare a unit plan on it, using 
concept map for content analysis. 
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